Multiplicar Tres Polinomios (E)

DO

i

Ot

Simplifique cada expresion.

(8wt — Tw?) (—=3w + 2)(6w® — 2w? 4 4w)

(=56 + 9b) (—6b> — b*)(—9b° + 2b* + 5b%)

- (—5b° — 4b?)(—Tb* + T6%) (—b° + 5b* + 6b7)

(3¢ — 9¢")(5¢° — 8¢°)(5¢* + ¢* — ¢*)

- (8d® 4 5d*)(6d + 3)(6d* — 2d* + 5d)
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Multiplicar Tres Polinomios (E) Respuestas

ot

Simplifique cada expresion.

(8wt — Tw?) (=3w + 2)(6w® — 2w? 4 4w)

— —144w® + 270w" — 254w° + 176w° — 56w*

- (=5b* + 9b) (—6b> — b*)(—9b° + 2b* + 5b%)

= —270b" + 5010° + 133b% — 26307 — 45b°

(=50 — 4b?) (=T + T6%)(—b" + 5b* + 6b°)

= —35b"% + 1820 + 203010 — 1827 — 168p°

- (3¢° — 9¢")(5¢* — 8¢*)(5¢* + ¢* — ¢%)

= 75¢'% — 330¢ + 276¢" + 141¢° — 72¢°

- (8d® + 5d?)(6d + 3)(6d° — 2d* + 5d)

— 288d" + 228d° + 222d° + 240d* + 75d°
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